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1. 49" +16n — 1is divisible by

a)3 b) 19 c) 64 d)29
2. In the expansion of (1 + x)°°, the sum of the coefficients of odd powers of x is
0 251
a) b) 2% c) 250 d)
3. The number of terms in the expansion of (x + y + 2)1?, is
a)l1 b) 33 c) 66 d) 1000
4. If 5 57 5-7-9 b 244 |
a—m+ﬁ+ 4132 + ..., then a® + 4o equal to
a) 21 b) 23 c) 25 d)27
5. 1 o ) ) 1+2x
If |x| < 7, then the coefficient of x in the expansion of ————, is
2 (1-—2x)
2r+1)27
a)r2" b) (2r — 1)2" ¢) r22r+1 ot

6. The coefficient of x™ y" in the expansion of
{1+ +y)(x+ )} is

n n n C3
a) ) ¢ b)) i ) i d) ZO '
r=0 r=0 r=0
7. If(14+x+x%)"=Cy+ Cix + Cox* +..., then the value of CoC; — C1C2 + CoC3 —..., is

2) 3" b) (—1)" 02 d) None of these



10.

11.

12.

13.

14.

15.

16.

973
If a, b, c are in AP, then the sum of the coefficients of {1 + (ax? — 2bx + c)z}1 ’ is

a) —2 b) —1 o0 d)1

n ne
4 ] is 14a°/2, then the value ofn—3 is

Jat C2

If the second term in the expansion[13 a+

a) 4 b)3 )12 d)6

Ifn> 1, then (1 4+ x)"* —nx — 1 is divisible by

X+
a)2x b) x? ) x3 d)
2 a\12
The coefficient of x® a=2 in the expansion of (% — ;) , is
2) 12, b) — 12 )0 d) None of these
IfFG5+26)'=I+fnleNand0<f<1, then I equals
1

1 by L 1 dT_7_f
)z f Fo I+ )
IfneN,n>1,thenvalue of E=a— "Ci(a—1) + "Cr(a—2) +.. + (=1)*(a—n) "C, is
a)a
b)0
c) a?

2n
d)

If a, is the coefficient of x 1 in (1 + x)" + (1 + x)" 1 +.. + 1+ x)""* (n<r —1 <n + k), then

Ytk (_1)"a, is equal to
a)o
b)n+k+1

gn+k+ 1)
n+k+1C
r

d)

The sum of 1+ n(1 —2) + 2*(1 — 1) 4 oo, will be

x 2!

a)x™ b)x™" c) (1 — %)n

If Ty, T1,T5,...T, represents the terms in the expansion of (x + a)", then (To— Ty +Ty— )2 +

(T1— T3+ Ts—..)%is equal to

a) (x? + a?) b) (x* + a?)"

d) None of these



17.

18.

19.

20.

o) (x% + az)l/n d) (x% + az)_l/n
If the coefficient of (27 + 1)th term and (r + 2)th term in the expansion of (1 + x)*3

are equal, then 7 is equal to
a)12 b) 14 c)16 d)18

If (14 x)"=Co+ C1x + Cox? +..Cox" then C§ + C + C3 + €% +... + C2 is equal to

2) L’ b) (2n)!

nin! nin!

J (2n)! d) None of these
n!

. ey . . n n 3( Ck 2
If nis a positive integer and C, = "Cy, then X =1k (K) equals

nn+1H(n+2) n(n+ 1)*(n+2) n(n+1)(n+2)>  d)Noneof these
a) b) c)
12 12 12
The value of
I1X2X3X4+2X3X4X54+3X4X5X6+ ..
+n(n+ 1)(n+2)(n+ 3),is

a)%(n +1)(n+2)(n+3)(n+4)(n+5)
b)%n(n +1)(n+2)(n+3)(n+4)

c) %n(n +1)(n+2)(n+3)(n+4)
d) n+4C5



